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1.1 OXOOOo0O0O

0000000000000 TSPSTATADOOOOOOOOOOOOODOOOOOOODOOOoOO
goboboooobooooobbooouoobooboooobobooobobooooboooooooooobon
goboooobooooboboboooobobooooboobooboooboboooobo0oooboooooDo

gboboobooboobobooooboobooboobooboobooboouoboboobooobooonoo
goboobooobooboooboobooboboooboboooboooboooooboobooooboon
oo00ooDOoOoOoooOOoO0ooOOoOo0ooOoOoOoobOOoOooOoDOoOoOooOoXbooooooooo

OXOOOODOOOOOooOooooOoO Jurgen Doormik OO0 OOOCOOOOOODOOOODO
gbboboboooboobooboobooboobooboobooobooboobooboooboboooboon
gooooooo0oOoooooOoOoooobooboOooOoooo cCcoC++000DOODO0O0OoODODOOO
O0000o0opoDOo0oooO0odoooodoooooooo co C++0DO0O0OoooOogoo

OXOOOUODOOOoOoOoOO IML (SAS), S-plus, Gauss, MatlabO OO OO0 OO IML O SAS
0do0ddoodoodooodDodooooooooooooooooooD SplusOOooooo
oo ooobooooooo
0000000000000 boooooDbooooboooooooo
0000000000000 000000000000 Gaussd MatlabO OXODOOODOOOOO
0000000000000 0DbOO00000O0oDoooo oXoooooooooooooooo
0ddo0ddoooooooooooooooooooogooooooooooooooOoon oxX
go0o0o0ooO00ooU0oooU0OoooOO00ooU00ooOOoOoUOO0 (H)oooooUoooDOooooo
gooobobooooooooubobooobbobooooboogoooobooobbooooo
00000000000 (GhoestviewOOOOOOOUOOOOOOOODOOOO

gbobooboboobobouoboooboobobooboobooobooboboooooobooonoo
0000000000000 ooooooooooooooDoD Gauss, MatlabO S-plusO0O0O 0O
ooon
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1.2 OXOOOOoooooo

1.2.1 OXOOODOOOOD

Doornik 0000000 http://www.nuff.ox.ac.uk/Users/Doornik/index.html 0 0 000
U00000000D0 oxconsd00.exeJ OO OO ODOOOOOOOOOOOODOOODO

1.2.2 OxEdit0000000

00 OoOXOOOODOOOooOooOUOooODOOoUOooOD0oOoooO0ooooooooooooooO OxkEdit
00000000000 OxEdit0000000 http://www.oxedit.com/ 0 0 oxedit161.exe 0O
0000000000000 0000D00 oxeditl6lexeJOOOODOOOOODOOOODODOOOOO
000000000 OxeditOOOODOOOO Preferences — Add Predefined Module 0 OX O OO0
00oooooooXooooo BINODOODODOOOOOOOoOooooboooOoOObOooooooo
0O Preferences — Tool Bars 000 Module 10000000000 OX)000OO000O000OOODO
000D000000DO0D00O FileODOODODO NewOOOOOOOODOOOOOOOODODOO
O00000000000000000 oxtut2c.ox(Tutorial 000000000000 OO0OOOOOO
Modulel 000000000000 0O0O0OO0OOOOOOOO

000000000 autoexec.hbat OO0 OO0 OXOOO PATHOOODOOOOOO PATHOO OX
OBINOODOOOODOOOODOOODO OXDO C¥oxOOoooooo

SET O0OX3PATH=C:¥0x¥include;c:¥0x

SET PATH=Y,PATHY,;C:¥0x¥bin

goooogoooon
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O00000oooooooobobDD oxeditOOODOODODOOUOO0OO0OO00OO0O0O0O oxedit.exe OO
ooooooobopbooOOo0O00o0Ug FileOOOOUOO NewlOOOoooooooobbobOoooo
oo0OO0000oOoOODOOOO00o00oooOO CcO00OOOoDODOOoOOOOODO0O0 docOOOO
Oindex.html OO 0O0O0OO00O0OO0OOODOOCODODOODO Function summary 00000000000

(/-D gooooodg ~

#include <oxstd.h>
main(){
decl a,b,c;
=2;b=4;c=atb;
print("a=",a," b=",b," atb=",c);

3
\ J

0000 #include <oxstd.h> 000000 oxstdhOOOOOOOOOOOOOOOO.hDO header
0hODODOODOOODOOODO0OO0O0D0O00D000O000000000O00D0DO0OO00O00O (DOOUOD
O00000DDoODoODDODO000000000000000000000000000000000
000000000000 0000000000000000000000000000000000
0000000000000000000000000 oxstd.hOOOOOOOO OXOOOO (stan-
dard) 00000000000 DOOO0O00OO0OO0O0OO0O0OCOOO0O0log0max0OOO0OO0OO
0000000000000 00000000000000000DO0000O0O0O0O0oDO00o0On

00 main(){...}000000000000000000000000 (main) 000000000
0000000000000000000 decl a,b,e; 000000000000 abed000000
00000000000000 (declared decl) 0000000000 000000;00000000
00000000000000000 a=2;0 b=4;000a020000b04000000000
00000000 ec=a+b;0 a+b0000 ¢000000000000000O

3
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OO0 print 00 0O0ODODOOOOOOOO”"000D0COO000O0O0OOOOOODODDODDDOODO
O0o000obO0ouobObbObobbOO0 FileOOOOOO SaveJOO0OUOOODODOODOODODOO samplel.ox
gobboodb.exdbboboooobbiogoexbOO0O0ooono

00 ModuleDOODOOOD OXOUOOOOD (D0DUDUDDOODOOODOO Module 100000
O00),Outpwt 00000000000 OOO0ODOUOODOODOOOOO

000000000 (00)
(ja=2 b=4 a+b=6 :)

2.2 QJO0dOdO0O

ggboooboooobboooobbooooboooog

1 2 10 20 11 22
a = , b= , a+b= ,
3 4 30 40 33 44
1 -2 1 70 100
a = , ab= ,
1.5 -0.5 150 220

oooooocoXoDoooooooo

KDDDDDDDDD ~

// matrix basic calculation

#include <oxstd.h>

main(){
decl a,b,c;
a=<1,2;3,4>;b=<10,20;30,40>; c=invert(a);
print("a=",a,"b=",b,"atb=",a+b, "a“{-1}=",c,"a*b=", axb);

3
\ J

//00000000000000000000000000000000000000000000
O00a=<1,23,4>;0000000000 < > 00000,0000000;00000000
00000 invert(a) 000 a00000000000000000000000
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s 0oooooooo (oo) ~
a=
1.0000 2.0000
3.0000 4.0000
b=
10.000 20.000
30.000 40.000
a+b=
11.000 22.000
33.000 44 .000
a~{-1}=
-2.0000 1.0000
1.5000 -0.50000
axb=
70.000 100.00
9 150.00 220.00 )

gobooboobobobooooboobooboobobooobobooobobbooboobooobooboo
goboboooobooooooboono

23 00O0OO0ObOOoobOOd

0 1/a0 invert(a) 0000000000000 0000000 mxn OO0 a0 a=zeros(m,n); 00
1000000 mxn 00 al a=ones(m,n)000 m OD000000 a0 a=unit(m)0000000
od

s goooogogon ~

#include <oxstd.h>

main(){
decl a,b,c;
a=zeros(2,1) ;b=ones(1,3) ;c=unit(2);
print("a=",a,"b=",b,"c=",c);

X
\ J

goooboooogoo
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e 0oooooooo (oo) ~
a=
0.00000
0.00000
b=
1.0000 1.0000 1.0000
c=
1.0000 0.00000
9 0.00000 1.0000 )
s ooooooooono 2 ~
#include <oxstd.h>
main ()
{
decl a,b,c;
a=<1;2>;b=<3;4>;
println("a=",a,"b=",b);
println("a~b=",a"b);
println("alb=",alb);
k} J
(—[]D[][]D[][]D[][]Q(D[]) ~
a=
1.0000
2.0000
b=
3.0000
4.0000
a“b=
1.0000 3.0000
2.0000 4.0000
alb=
1.0000
2.0000
3.0000
9 4.0000 )




24, D0O0O0oOoOoOoOoo 7

24 0JO0OODOOODO

0000000000000000000 atb,a-ba*ba/b00000000
+ ooo
— ooo
* ooo
/ ooo
0

|

ogd
goooooogon

~ | 00000o0ogo
0000000000000 000O0000OU0O0O0O0O0OOOUOOOOn. (det)DOODODO

ooo.*000oooo0ooo,./(booooooo)ooood

2.4.1 0O0000O0OO0OOO

(—[][]D 1000ooa ~
#include <oxstd.h>
main()
{
decl a,b,c;
a=<1,2;3,4>;
print("a",a,"a’=",a’);

print("al0] [0]=",a[0] [0],", al[O0][1]l=",al0][1],"\n");

print("a[1] [0]=",a[1][0],", al1l[1]l=",al1][1],"\n");

print("al0] [0:1]=",a[0][0:1],"a[1][0:1]=",a[1][0:1]);
print("al0:1] [0]=",a[0:1] [0],"a[0:1]1[1]=",a[0:1][1]);
}




O20 OoXOoOO

s 0001000000 (00) ~
a
1.0000 2.0000
3.0000 4.0000
a’=
1.0000 3.0000
2.0000 4.0000
al0][0]=1, al[0][1]=2
al1]1[0]=3, a[1][1]=4
al0][0:1]=
1.0000 2.0000
al1][0:1]=
3.0000 4.0000
al0:1][0]=
1.0000
3.0000
al0:1]1[1]=
2.0000
9 4.0000 ,,
2.4.2 0O000O0OOOOOO
. gooooooood ~
#include <oxstd.h>
main ()
{
decl a,b,c;
a=b=<1,2;3,4>;c=<10;20>;
print("a",a,"b=",b,"c=",c);
print("a"2=",a"2,a%a); //a"2=a*a;
print("a.”2=",a."2); // componentwise square
b+=1; // b=b+1
print("b=",b);
print("a/b=", a/b, a*invert(b)); // a*invert(b)
print("a./b=",a./b); //componentwise
print("axb=", axb); // axinvert(b)
print("a.*b=",a.*b); //componentwise
print("axx(c’)=",a*x(c’)); //Kronecker product
N ’ J




24, D0O0O0oOoOoOoOoo

~00oooooooo (@o)

a
1.0000
3.0000

1.0000
3.0000

10.000

20.000
a~2=

7.0000

15.000

7.0000
15.000

1.0000
9.0000

2.0000
4.0000

a/b=
1.5000
0.50000

1.5000
0.50000
a./b

0.50000
0.75000
axb=
10.000
22.000
a.*b=
2.0000
12.000
axx(c’)=
10.000
30.000

2.0000
4.0000

2.0000
4.0000

10.000
22.000

10.000
22.000

4.0000
16.000

3.0000
5.0000

-0.50000
0.50000

-0.50000
0.50000

0.66667
0.80000

13.000
29.000

6.0000
20.000

20.000
60.000

20.000
40.000

40.000
80.000
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243 0O0000O0OOOOO

ggbooboooobooooobooooobbooooobooooboboooboooooboboOoooon
gooo

s gobooooooboooogoo ~

#include <oxstd.h>
main(){
decl x1,x2,x3,x4;
x1=x2=0;x3=x4=1;
x1=x1+1;x2=x2-1;x3=x3*2;x4=x4/2;
print("x1=",x1,", x2=",x2,", x3=",x3,", x4=",x4);

}
N J

goboboobooooboobobooooboobboboooboboobooobooboooboobobobobooon
gobooooobbbooooboobooobooboboooboboooooboboo

s goboooggooon ~

#include <oxstd.h>
main(){
decl x1,x2,x3,x4;
x1=x2=0;x3=x4=1;
x1+=1;x2-=1;x3%=2;x4/=2;
print("x1=",x1,", x2=",x2,", x3=",x3,", x4=",x4);

}
N J

OU00oooooooo (oo)
(j;1=1, x2=-1, x3=2, x4=0.5 j}

2.5 00000000000 (for, while )

0000000000000 00C0D000d forO whileODOOOOOODOOOOODOi=0000
go0ibofd1000bbik3 0b0o0ooooooooooooon



25 0000000O0OO0OOO (FOR, WHILEO)

(—for[][]D goooooooo

#include <oxstd.h>
main()
{
decl i;
println("loop: increasing");
for(i=0; i < 3;++i)
{
println("i=",i);
}
println("loop: decreasing");
for(i=3; i > 0; —-i)
{
println("i=",1i);
}
}

N

(—for[][]D 000o00ooooo (oo

loop: increasing
i=0
i=1
i=2
loop: decreasing
i=3
i=2

i=1

N

ooboooboOowhileODDDODDDDOD

11
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O20 OoXOoOO

s whileOOOOOOOOoOooOO

#include <oxstd.h>
main(){
decl i;
i=0;
println("loop: increasing");
while(i < 3)
{
println("i=",i);
++7;
}
i=3;
println("loop: decreasing");
while(i > 0)
{
println("i=",1i);
—i;

}

N

~

/do—whileDDDDDDDDDDDD

#include <oxstd.h>
main(){
decl i;
i=0;
print("loop: increasing");
do
{
print("i=",i);
++1i;

3

} while(i < 3);

i=3;

print("loop: decreasing");
do

{

print("i=",i);

} while(i > 0);

N
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do—while0OO while DO O0O0OODO000O0O0 whileOOOOOODOOOOOOUOODOOOOOOO (while
0)000000000 (do—while)DOOO0OO

2.6 0000000 (if0)

if0000000000000000000000000C0C00000000000OO ifooooo
gobobooooooboooooboooogo

tooooo
[if(EIDEI AN{DDODDO B1;} j

00000000000 Al0000O0C00 Bl1OOODOOOOOOOODOOOOOOOOOOOOOO
gobooooobboooobobboooobon

fooooogo

if(000 AN{000O0D0 B1;}
else if (000 A2){00OO0O0O B2;}
else(000 A3){00OODO0O B3;}

00000000000 A1l0DDOCOOO0BIOODOODODODOOO0OOOOelse ifODO0ODO A20
000000000 A20000000 B2000000000O00OOOelsedd0O0O00OOODOODO
OO0D00OOelseif0000000DOO0O00O0DOO0ODOO0O0O0OO0elsedd000Q0ODOOOOOOOn
goboobob1009000000xb000030000100000Oy1, 200000 y2, 00
000000y300000000DO0O0O00O0O00 fmod(A,B)0 A/BOOOOOOOOOOOOO
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O20 OoXOoOO

(—IfD

#include <oxstd.h>
main()
{
decl 1i,j1,j2,j3,x,y1,y2,y3;
x=<1;2;3;4;5;6;7,;8;9>;
yl=y2=y3=zeros(3,1);
j1=j2=33=0;
for(i=0;i<9;++i){
if (fmod (x[i],3)==0){
y1[j11=x[i];j1+=1;}
else if(fmod(x[i],3)==1){
y2[j2]=x[i];j2+=1;}
elseq
y3[j3]1=x[i];j3+=1;}
}
print ("x=",x,"y1=",y1,"y2=",y2,"y3=",y3);

¥
N

~

(—IfD (OD)
x=

.0000
.0000
.0000
.0000
.0000
.0000
.0000
.0000
.0000

© 00 N O O b W N =

w

.0000
6.0000
9.0000
y2=
1.0000
4.0000
7.0000
y3=
2.0000
5.0000
8.0000




26. 0000000 (IFO)

fo0o0oO0O0oo0OO0000oDO0od0ooO0ooooOOo0o0o A0BOODOOOO

00 00
A==B|AOBOOOO (A= B)
A'=B|ADBOODOOOO (A#B)
A<B |ADBOODOOO (A<B)
A<=B|AOBODO (A< B)
A>B |ADBOOOOO (A>B)
A>B|ADBODO (A> B)
000 A0BOOOOOOOOOOOOODOO0O0O0O0O0.(det)000000
00 00
A .==B|AD0D00O0BOOOOOOO (A= B)
A .'=B|A0D000BOOOOOOOOO (A#B)
A .<B |ADD0OOBOOOOOOOO (A<B)
A .<=B|AD0DO0O0BOOOOO (A< B)
A .>B |ADD0OOBOOOOOOOO (4> B)
A .>=B|AD0DO0OO0BOOOOO (A> B)

goboooooboooooon

od

od

A && B

AOOB

All B

AODOB

A .&& B

AODOOOOBOOO

A .ll B

AODOOOOOBOOO

15
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0 30

Joooooon

3.1 Uouguooooboodd

OXOOOOODOmainOOOOOOOOOOOO HellolOOOOOOOOOOODOOOOODOOOO
00000000 fHelloOOOOOOOODOOOOOOOOOOOOODODOOOOOOOOOOOO
f0O00000000000O000O0000000O0O0O0LOO0ODO0ODO0 (()DODOLooooo
O0000000000main00000 fHello)OOOOOOOOOO0OO0O0OO mainO0O0O000O0O0O
fHelloOOOODODOOOOOOOOOOOOOOOOO0O0O0O0O0O0O0O0O0OO0ODDODOO0 main0OOOODO
uoboboooobooboooooboobooooobobooobboooooobon

s goooooooo N

#include <oxstd.h>
fHello(){
println("Hello!");
}

//

main(){

fHello () ;

+
. J

ooooo

oooooogoo (D D)
[Hello! )

gooooo

17



18 03000000000
3.2 UUOUOOoog

00000000000 00D0000 fTest1 O fTest20 000000000 main OO0 O0OOOO0O
0000 x0000000000000 fTestl 000000000000 xO000000OOOODO (const)
O0DO0O000O00O0OD0D fTestl DO0OO0OO0ODODOOOOOOOOOCDOO,000000000 mainO
0000x000000O00O00O0000 (1))~3) 00000000 0ODUO0O0O0x=0000000
gooooogoo
flest200000000000x000000x0000000O0O0O0OQOOODOODOODOODDDX
gbooooboobobooobobbobboboxbooooobooobobbobbobooboon
xO0O0OO0O0O0O0O0O00O000000000ox000000 main00000 &xOOODOOODOOO
0000000000000 000O0000D «dXDOOOOODhoOooooooO adXOoooOooooo
0aadXDOOOOOOOODOOUOOOO (D00 x0O0)00O0000 adX[0joooooooo

ooood Ooo0oooogd
X -—> &x
adX [0] <—- adX

OO0D0000O fTest200 xO0OOOOOOODOODODOOOOODOODOOOOOOODOODDOOOOODO
gbobooobooboobooboboboooobobbobooboboobobob0bd main
00000000000 4)00x=0000000000000 ()0x=10000main00000O
0000 (6)0x=10000000000000000

KDDDDDDD ~

#include <oxstd.h>
fTest1l(const x){
decl y;

y=x;println("(2) x=",y);

}

fTest2(const adX){

println("(4) x=",adX[0]);adX[0]=1;println("(5) x=",adX[0]);
}

main(){

decl x;

x=0;println(" (1) x=",x);

println("Function without using address");
fTest1(x);println("(3) x=",x);

//

println("Function using address");
fTest2(&x) ;println("(6) x=",x);

}
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/—[][]D[][][]D (D[][]D[]
(1) x=0

Function without using address
(2) x=0

(3) x=0

Function using address

(4) x=0

(5) x=1

(6) x=1

‘/

0000 fTestl 000000000 x0 (const xOOOODOOUOOUODOO0O0OO00 mainO00O0OO
xO0OO0O0ODOO0ODOO0O000O0fTestl 00000 x0000z2000000000000000000
U000000Omain 00000 main OO DOOODODDODODODODODODOODODOOOOO0OOOO
goboooobooboooboobooboboooboboooboobooobobbooboboboooon
gobooooboobooobooboboobooboooobooboobobooooboboboooboooboon
gbbobooobooboobooobooooobooobooboobooboooobooooooooboon
gobooooobbooooobboooobooooboboboooboooooboooobbooo

3.3 UOooogo

ggboboboooobooooobooooobboooooboooooboboooboooooboboooon
g0oooOoOoOoOoOoOoOoOoOoOOODODODODODODODODODOOOODOODOODOOOO00d fSquare00O0O
goooooobbboo0fdrreturn 0000000000
(,-D gooooo ~

#include <oxstd.h>

fSquare(const y){

decl y2;y2=y~2;return y2;

}

main(){

decl x,x2;

x=2;x2=fSquare (x) ;println("x=",x,", x"2=",x2);

}
N J

[DDDDDDD (0OD0o)

x=2, x"2=4 :)
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34 U00O0ODODOODOO

D000000000000000000000000000000000000000 maximiza-
tion 0000000000000 000000000000000000000 #import < maximize >
0000000000000000 y=-222+4r+1=-2>z-1)2+3 00000000000
0000000 z=1,y=3 00000000 =0 000000000000000000000
D000000000000000000000000000000000000000000000
O000000000000000000 MaxBFGSOOOOOOOOOOO0OOO0D0OO0O0DOOO
0000000000000 000000000000000000000000000000000
00000000000000000000000000000

00 MaxBFGSOOOOOOOOOOOOOOOO0OO0O0D0OO0O0D0O0O000OO0O0DOOOnogo
O0000000000000000000000000000000000000 100000000
0000 (0/FALSE: 00000 1/TRUE: 0000000000000 0000 1000000000
000000000

~000000 ~

#include <oxstd.h>

#import <maximize>

// Maximize y=-2%x"2+4*x+1=-2%(x-1)"2+3

// Maximum: (x,y)=(1,3)

fMyfunc(const dX, const adFunc, const adScore, const adHess){
adFunc [0] =-2*dX"2+4*dX+1; // value of function
return 1; // return value 1 if succeeded

}

main(){

decl x,dfunc;

x=0; //initial value

MaxBFGS (fMyfunc, &x, &dfunc, O, TRUE);
print("Value of Function=",dfunc,"at x=",x);

3
\ J

000000 (0ooo)

Value of Function=
3.0000

at x=
1.0000

oooobooooool1ogoooboooooobbooooboooooooooboooooDDo
000000000000 0000 MaxBFGSOOOO MaxNewtonJOODOODODOOOOOOO ad-
Score[0],adHess[0] 0D 00000000000 OO0OOOO0OOOOOOO



34. ODO0ODDODDODO

s 000000 (Dopoooo

#include <oxstd.h>

#import <maximize>

// Maximize y=-2%x"2+4*x+1=-2%(x-1)"2+3

// Maximum: (x,y)=(1,3)
fMyfunc(const dX, const adFunc, const adScore, const adHess){
// dX: parameter, adFunc: function value (address)

// adScore
adFunc [0]=-2*dX"2+4*dX+1; // value of function

//

if (adScore)

// when the last parameter of MaxBFGS = FALSE

// or when MaxNewton is used.

{

adScore[0]=-4*dX+4; // println("adScore=",adScorel[0]);
}

if (adHess)

// when the last parameter of MaxNewton = FALSE
{

adHess[0]=-4; // println("adHess=",adHess[0]);
}

return 1; // return 1 if succeeded

}

main(){

decl x,dfunc,ir;

x=0; //initial value

MaxBFGS (fMyfunc, &x, &dfunc, 0, FALSE);
// quasi-Newton method by Broyden, Fletcher, Goldfarb, Shanno (BFGS)
// We do not need to provide analytical derivatives for MaxBFGS
// However, if we provide analytical 1st derivatives, convergerince
// will be faster. second derivatives are not used anyway.
print ("MaxBFGS: Value of Function=",dfunc,"at x=",x);

x=0;

MaxNewton(fMyfunc, &x, &dfunc, 0, FALSE);

// Newton method

// We need to provide first derivatives for MaxNewton.

// The second derivatives are optional.

print ("MaxNewton: Value of Function=",dfunc,"at x=",x);

¥
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KDDDDDD(DDDDDD)(DDDD) ~
MaxBFGS: Value of Function=
3.0000
at x=
1.0000
MaxNewton: Value of Function=
3.0000
at x=
\» 1.0000 )

O000O0O0D0O000000000O0000ooOobODoODOO000a0 static declUOOOOO0O
000000000000 00000000000000000000D00000 y=—222+4z+1
0000000000000000000000000000000000 y=a2?+bz+c 0000
ggboooooobobooooooboooobooogo
s goooogg ~

#include <oxstd.h>

#import <maximize>

static decl a,b,c;

fMyfunc(const dX, const adFunc, const adScore, const adHess){
adFunc [0]=a*dX~2+b*dX+c; // value of function
return 1; // return value 1 if succeeded

}

main(){

decl x,dfunc;

a=-2;b=4;c=1;

x=0; //initial value

MaxBFGS (fMyfunc, &x, &dfunc, 0, TRUE);
print("Value of Function=",dfunc,"at x=",x);

3
\ J

3.5 UbOO0Uubgobooooobooon

ooooboOoooboooboooDoooDDD mylib.hOODOOODDODDODDDODDODODODOO,
000000 mylib.oxOOOOOO OXOOOOOO include 000000000000 DOOOOO

#include <mylib.h>
#include <mylib.ox>

gobboooobboboooobooooboboooobbooooon
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D000 inclvdeDO0O0O0ODOOOO0ODOOOOOOOODOOODOOODOOODOOODODOOO
od

#include "mylib.h"
#include "mylib.ox"

gooon
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040

Jooooooooggooon

gobogbooobooobobooooboobooboboobooboobooboboobooboobobooo
gbooboobooobobooobobooboboooboboooooboobooboooooooobooon
gobooooobbooooobboooobobooooboobooobobooooboooobobooogoon

0000 (testl.txt)

110
2 20
3 30

ooboobooooboooboboD 3x20000000ODDODDD
goooogoooon
(

#include <oxstd.h>

main(){

decl mx,file;
file = fopen("testl.txt");
fscan(file,"%#m",3,2,&mnx) ;
fclose(file);

println(mx);

}
N J

fopen O testltxt OO0 OO OO OD0ODO fileDO0O0O0O0O0OO0O0O fscand OO0
O00O0OC00O00 3x2 000000 mx00D0ODDOOCOOOO "Y#m"O
gobooboobooboooboobooboobooboobobo0 mx00O0O
O0emx 00000000000 CODOO0ODO fcloseOODOOOOOOODOOO
goono

25
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U040 000OO0O0O0OO0O0ODOOOOO0OO

goboboooobobooooobooogo
ooooooooooon)

1.0000 10.000
2.0000 20.000
3.0000 30.000

U0000b0o0b0o0obobo0ooboobOogbDtestltxt0 0000000
testlxlsOO0ODODOOOOCOOOOOODOOOOODOOOODOOOOO
e 0o00ooUoOoo (boooooooo

~
#include <oxstd.h>
main(){
decl mx;
mx = loadmat("testl.x1ls");
println(mx) ;
k} J

gobobooooobobootl xO0goooooobobooooboboooooboo

gooboooogo

file = fopen("test2.txt", "w");
fprint(file,"’%15.5f" ,mx);
fclose(file);

»5.5f 00 0000000000000 0OOOOoOoODDO 1 OODDODOD
goboooooobosbboooboooboboooobono - o0booobooo
gobboooboo9bobooobobooobooboboooobobooosounooog
oooo0Oo0000000000 format(600); DOOOOO 6000000000
oobooobooo2bbbobbbDD

test2.txt
1.00000 10.00000
2.00000 20.00000
3.00000 30.00000

goboboboooobboooobboooobbooogoo
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(i-D 0000000 (D0oooooooo

savemat ("test2.x1ls" ,mx) ; j)
O

O00Otest2xlsO0000000O000O00DOO0ODOOOOOOODOOOOODOOO
Ver2 1 000000000 OODOOOOODOO
test2.xls
Varl Var2
1-1 1 10
2-1 2 20
3-1 3 30
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050

Joooooon

oXpoooooooooooooooOoOoOoOoOoOooOoOooooooooooooooooooooo
gboobooobooobooboooboobbooboooboooboooooboooooboooooooobooon
0000000 (0D000.epsO.ps) 0 GiveWinOOOOO.gwg)DOODOOO (DOO0.wmf) OO
0000000000000 OODODO0OO0O00OCDOODODO0OO GSViewODDOOOOOOODO
gboobooobooobobooooobooobooooboooooboooobooooooooboon
goooooobobboooobobobooobbooooon

000000 oxdraw.h OO OOODOOOO0DOOOOODOOOOCDOOO
(,-D gooboooobooo ~

#include <oxstd.h>

#include <oxdraw.h>

main(){

decl t,nobs,x;
nobs=100;
x=zeros(nobs,1);
for(t=1;t<nobs;++t){
x[t]=0.5*x[t-1]+rann(1,1);

}

// Draw Time Series Plot of X
SetDrawWindow("drawl") ;
DrawTMatrix(0,x’,{"X"},1,1,1);
SaveDrawWindow("x-tsplot.ps");
CloseDrawWindow() ;

3
\ J

rann(1,1) 0000000 (DO 0,00 1)0000OD0OOO
Xt:0'5Xt—1+€t7 t:l,...,99, X():O,

29
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0 e¢ O00O0O0OUOO (0D O,001)0000000ODO0O0ODOOODO Xo,Xy,...,Xe OO00OOOO
U000 X 0DooDoooDDD xtsplot.psO0O0O0OD0DOODODOODOODO

051 X 00000000 (x-tsplot.ps)
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Jooooooooggd

gobobooooboooooobboooooobooooboboooobooooon

s gooboooggo ~

#include <oxstd.h>
main(){
decl x,y;
x=rann(100,1) ;y=ranu(200,1);
println("Yr",{"X","Y"},
"%c" ,{"Nobs", "Mean","StDev", "Max","Min"},
(rows (x) [rows(y) )~ (meanc(x) Imeanc(y) )~ (varc(x) |varc(y))
~(max (x) Imax(y)) ~ (min(x) Imin(y))) ;

}
\ J

0000000000 2000000000000000000000O00O0O0OOO
O0000000000000 %00 (row) 00000000 OOODOOO %O
O (column) D0OO0OO00ODOODOOOOOOOO

0ooooooo (oo)

Nobs Mean StDev Max Min
X 100.00 0.036508 0.89381 2.3465 -2.1607
Y 200.00 0.53112 0.084316 0.99883 .011271

31
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Jooooooooggooon

71 0ODO000O00O0O0ODO0ODOObOObOo

0000000000000 C0O000000000000o0O00gooo0 C++0JavadO0O0O
ggboooooobobooooooboooobooogo

0000000000000 0000000000 (class)D00O00O00O0O (object)D0O OO0
gboobooboobobooobooobobooboobooboooobooobooobooobooooon
goboooooobooboobooooboooboboboobooboboboboobooobobooboon
U0000obooobobbOmain 00O OODOOOOOOOOO00O0000000000000000
goboboooobooooooboooon

7.2 000 (class) OO

gobobooooooboobooooboooooboooooon

OO0 class000000000O00O0DO0O0OO0OO0ODOO0OOOO NisssnOOOOOOOOO{ O}
00o0ooO0o0oU0OU0OU0O0O0O0OD (;D00D00D00DC00D0O0D0O0DC00DOUDOUODUODUODOD
goboboooobbooooobboooobobobooobobbooobo0oooobooo

(DDDDD ~

#include <oxstd.h>
class Nissan
{
Nissan(); // constructor
~Nissan(); // destructor
Rental();
Dealer();
decl m_pricel, m_price2;
};
N J

O00VNissan() O0O0O0OO0OOOOO0OO0OO0OO0OOO0OO0O0O0O0OUUOODUOUOOOOOOOOOOOOO, 0o

33
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goboboooobooboooboooobooboobobooboboooboobooboobooooboon
O0o0o000000000000000000 Nissan(O) OOO0O0000O00000O000O00O0O "Nissan()
gboobooboooboooboooboobooboboooboooooboooobooboooboooooboon
oobobd ~00b00b00b00obOO0o0oboboOoboboooobooboobobobooboboon
goboboooobooooooboooobon

0000000000000 0000000DO0D000000 Rental();, Dearler(); OO DOODO
0000000000000 0000000000000000 method)OOOOOOOOOOOO
m_pricel, m_price2J 0000000000000 0O0ODO0O0OOOOOOOODOOODOO (datamem—
ber) 000000 OXOOOOOOOOODOOOODOOODOOOODOOODOODOO

(f[][]D[][]D[][]D ~
Nissan::Nissan()
{
println("Welcome to Nissan.");
m_pricel=10000;
m_price2=1000000;
}
Nissan:: Nissan()
{
println("Goodbye Nissan.");
}
Nissan::Rental()
{
println("Nissan Rent-A-Car. Price:",m_pricel,"Yen.");
}
Nissan: :Dealer()
{
println("Nissan for Sale. Price:",m_price2,"Yen.");
k} J

gooooooodog s UDUU0000 ;U000 UU0UUUUOUUUOOOO
oooboboooooobobo0ooobobOO0ONissan::Nissan D000 00O 0O0O0O0O0O0ODOOO
OWelcome to Nissan. UOOODOO0OO0DDOO0O0DOOOm pricel, m_price2J 0000 10000,1000000
gboboobobooboboboboo0ob0o0obob0bOobdbdGoodbye Nissan. DODO OO
000000000000 0000OO00C0DO0O000O00CODO000DOOO00DORental() ODealer
gobooobboobooo1oo000b00O0OD0OO 100000000000DO0OO0ODOOOOOODOOO
gobooooooooobooboboobbobopbooooboobobobDDDbD
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(—[]D[][]D[][]D[] ~

main(){

decl car;
car=new Nissan();
car.Rental();
car.Dealer();

delete car;

0000000000000 00car00000 car=new Nissan(); O NissanOOOOQOQOOOO
000000000000 NissasnOOOOOOOO car.Rental(); Ocar.Dealer(); DODOODOO
dooo.0oodddooooooooooooooboooooonooooddddelete g
ododobooooodoooooooooooooobobooooooooooooooooooon
godooooooooooooda

goooogg

Welcome to Nissan.

Nissan Rent-A-Car. Price:10000Yen.
Nissan for Sale. Price:1000000Yen.
Goodbye Nissan.

00 car=new Nissan(); 0000000 0ONissan() 000000 DODODODOODODOOOOOO
Welcome to Nissan. 00000000 OOOcar.Rental();,car.Dealer(); 0O0DOOOOODODODO
000000000000 00000Nissan() 00000 O0OGoodbye Nissan. 0O0O0O0O0OO0O
ooo
oooo0o0oOooOoOoOoOoOoOoOooOOO0DOOO0O0O0oO00o00o0o0o0ooooooooooon
000000000 000D0O0000oo00, 00,0000,000,000000000000000
000000doooDax 000000000000 00ooDo0o0D0d0Oclass000000O0DOOOOO
0000000000000 0sumary 00000000000 00OOOVersion, 000000000
00XOOD0ODOD000Ow dx0000000000000000D0;00000000000000
0000000000 0000OBaseStat(dX) D00 0000000000000 O00O0O0O0OO
000&XO0DOD0OD0OO000On_dxO0000000DO0O00ODODOOODOODODOOOODOOOODODOOO
O0O0O0O"BaseStat() 00000000000 ODODDOODOOOOOOOOOOODDOOODOOOO
0000000000000 00suwmmary 0000000000000 0O00O0OOCODODOOVersionO
0000 BaseStat 00 0000000000000 0O0O0O0ODOOOOO
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goboooooooon
(

U 70 00o0ooo0ooobooooon

#include <oxstd.h>
class BaseStat

{ BaseStat(const dX); // constructor

Summary () ;

Version();

decl m_dx;
+;
BaseStat: :BaseStat (const dX)
{ m_dx=dX;}
BaseStat: : Summary ()
{ Version(Q);

println("Yc",{"Nobs","Mean","StDev","Max","Min"},

rows (m_dx) “meanc (m_dx) “varc(m_dx) 0.5 max (m_dx) “min(m_dx)) ;

}

BaseStat: :Version()

{println("This is BaseStat Class Version 1.0.");}

~

J

gooloeobobooOooobboOOooobobooogon

main 00 0000000000000 000000000DO0O0ODO xO00000O0O0OODOODODODOD

s oooooooooooon ~
main(){
decl x,test;
x=rann(100,1) ;
test=new BaseStat(x);
test.Summary() ;
delete test;

}

N J
oooooooooooooon ~
This is BaseStat Class Version 1.0.

Nobs Mean StDev Max M1
100.00 0.036508 0.94541 2.3465

-2.16(
‘/

7.3 00000 (derived class) 0O

0000000000 000000000000000000 (Inheritance) D0DOO0OOOOOOO
00000000 (base class) 000000000000 O0OO00O0OODOOOOODOOOOOOODO
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O00000000000000000 (derived class) 0O O0000O0000O0O0OOOOOOOOOO
0000000000000 DO000000000000 BaseStat0OOOOODOOO0OOOODOOOO
MyStat OO OCOOOOOCOOCOOOOOO0DOOO0000O0O class ODOOOCOODODODODODO
U0000DOclass MyStat:BaseStat U0 U OO0 0OO0D0O0OO0DO0OO0OO0ODOOOOODOOODOOO
Oooooooo{ r0o0CO0C0OO00O00OO0ODbOODCODO0O0O0 0CclassO 000D DOOOODOLOD
ugboooboooboobooboobooooboboboobooboboobooboooboboooboon
goboooooboobobobooooboboobobooooboobobooobooobobooboon
gobooobobooobobodMysummary UOOOO0O0OO0O0OO, 00, 0O00OO0OO0O0OOO0OOOOOOOO
gobobooooboboboooobooboooboboboogobbverionODO0OO00O0O0OO0O0OO

KDDDDDDD ~

class MyStat:BaseStat // derived class

{ MyStat(const dX); // constructor
Version() ;MySummary() ;

}

MyStat: :MyStat (const dX)

{ BaseStat(dX);}

MyStat: : MySummary ()

{ Version();
println("Y%c",{"Nobs", "Mean","StDev"},
rows (m_dx) “meanc (m_dx) “varc(m_dx) ~0.5) ;

}

MyStat::Version()

{println("This is MyStat Class Derived from BaseStat.");}

‘/

main 00 0000000000000 00OO00000O00000O000O00O00000O0000DO000bO0bO0O0
gooood

KDDDDDDD(DDD ~N

main(){

decl x,test;
x=rann(100,1) ;
test=new MyStat(x);
test.MySummary () ;
test.Summary() ;
delete test;

}
N J

gooooooobboooobobboooobobooogoon
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KDDDDDDD(DDD ~
This is MyStat Class Derived from BaseStat.
Nobs Mean StDev
100.00 0.036508 0.94541
This is BaseStat Class Version 1.0.
Nobs Mean StDev Max Min
9 100.00 0.036508 0.94541 2.3465 -2. 16/( 7

7.4 0000000 (override)

00000000000 oooooooobooooooooooooDooooooooDoooOon
O0000OVersionOOODOOOOD0OO0OODO0ODO0OODOO0OOOOOOOODODOOOOVersion [
d0o0ooOo0bOoboo0boooobOooooboo0oboboo0oooO0ooOoooobooOooooo
O0OVersion OO Ovirtual Version(); 000000000000 OOOOOOOOOO

s googood ~
good
class BaseStat
{ BaseStat(const dX); // constructor
Summary () ;
virtual Version();
decl m_dx;
};
good
N J
dooooooooooooooboooooboo
(f-D 00000000o0oooooo (oo ~
This is MyStat Class Derived from BaseStat.
Nobs Mean StDev
100.00 0.036508 0.94541
This is MyStat Class Derived from BaseStat.
Nobs Mean StDev Max Min
\» 100.00 0.036508 0.94541 2.3465 —2.1?57

0000000000000 0000000000O0DO0U00000DO0U00O0OUO0O0O (override)
goboooooobooobobooboobbooboobDDbbobDDDDD,00000000BaseStat: :Version();,
MyStat::Version(); OODOOOOOOOO::000,;0000000000000000



